(07|
@ 4x-3=2x+15

O 2(4x+1)=3(x-6) -1

© 3x-4=2(x+1)

@ 5x-3=3(x+1)

@ x-1=2x+5

8=
c
>R

2%



M ax-4=x-b7t 7t F56l B2 W, a, b O] G

ofzt.

filo

27} 78

YR



el A2 o] 5247} 3 Q1 F Al o] 447t 9lek. o] A2l Ale]
Akele] Spet Ao) Aol o] 2AHS HHE S g 0] 2 WjRT 7
§HF Soka Atk g 5o} kR 0] 42 Fotolet.

Yk
=%



4. 23 o9 9] ol 53 A, oF5] tholi= 17 Alelch. @ o]
oL o] Lfo]7} oF50] Lol o] 4 w7} H]Gli=A] Tfelat.

e d



o3 I8 Qe AolA Este] 1 20 1lem 4, P= BolA &
1reto] 1 20 2em A 2] QIThal et *]"ﬂrﬂl'lzl w017k 198cm?
7V El= A2 E 2 §F Q1] Atotofet

A Q

1201%1 \

‘1

B P
B 2



